
Agreeing with positive and 
negative statements:

I like chocolate = so do I
I can speak French = so can I
I’ve got a dog = so have I
I wasn’t late = neither was I
I didn’t hear = neither did I

Follow the auxiliary or verb 
in the first sentence.



I’m English

So am I 



I’m not French.

Neither am I 



I can swim

So can I 



I can’t speak 
German.

Neither can I 



I live in Paris

So do I 



I don’t live in 
London.

Neither do I 



I’m going to 
town.

So am I 



I’m not going 
to watch 

television.
Neither am I 



I like playing 
tennis.

So do I 



I don’t like 
playing golf.

Neither do I 



I was tired 
after the 

party.

So was I 



I wasn’t 
pleased with 

Sally.

Neither was I 



I had coffee 
for breakfast.

So did I 



I had an exam 
yesterday.

So did I 



I didn’t do my 
homework 
yesterday.

Neither did I 



I went to the 
cinema on 

Saturday. 

So did I 



I’m doing my 
homework 

after supper.

So am I 



I’m not watching 
television 

tonight.

Neither am I 



I’ll go to the 
beach 

tomorrow if 
it’s fine.
So will I 



I won’t be home 
until late this 

evening.

Neither will I 



I’d travel 
around the 

world if I had 
a lot of money.

So would I 



I wouldn’t like 
to be a doctor

Neither would 
I 


